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SECTIO
L.
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() State o
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\‘ A hosepi
QO diameter 0

one vellow students wanted to y\tq,ea metre rule 1o take the dimensions of their physics text

at least two things they mu@ in order to obtain accurate lengths. (2mks)
.\\.
e P
A\
=)
B s i A A A SRS O B e

¢ wl a Six's thermometer has over a mercury - in - glass thermometer. (Imk})

@é/ tage t
> (G antaye
[ &

pe of mternal diameter 4.0 ¢m is connected 1o a sprinkler with 25 holes. each of
e e ; . 3 I e 5 E ; H
U4 cm. The water in the pipe lows at a speed of Sems . Determine the velocity with which

the water Jdaves the sprinkler.

3 The diagr

(Z2mks)

3 = T 5 . % y ~0 3
am below shows a body of mass 5 kg being pulled up a smooth plane inclined at 60" to the

horizontal by 4 force 60 N acting parallel to the plane.

A

MARANDA S¢

Caleulate the acceleration of the body. {3mKs)
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4. Draw a diagram to represent a mga%mcter screw gauge of thimble scale 30 division with a reading
of 5.95 mm. Q\}S’ (2mks)
\Q}
& :
.\\.
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&’
Q
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5 I?XL}I';J% why walking on water is more difficult than walking on hard surface. (lnik)
Q’b’
N
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6. Why are the balloons used for high altitud2 observation are not fully inflated before being
released. (Amks)

7. A ball is projected vertically upwards at 6 ms™ .Draw the velocity-time

> eraph tor the ball’s moetion
on the axes below?

(Himkgy
‘:l.
2
s
”
lme s
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8 A deLL of tron of mass 250g is heated L@k—: 'N)l

" and then placed in a well- -lagged coniainer of ice
bl od\% at 0°C. Calculate the mass of thc ice

> that melts if the temperature of the iron drops tc 0°C.

fIa*e[ultqui\am azation of iceged » 10 IKe T specific he cat capacity of iron as 460 Jkg” I{"')
(3mks)
.\\.
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9. the diagram below shows a set-up used to compare rates of diffusion

of ammonia and hvdrogen
chlonide gases.

1
I HO g
i) State the vbservation made 'n the experiment (tmk)
il Explain the observation made above.
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10. In the diagram below. the liquid sgé%ed is mercury and the atmospheric pressure 760mmHg. |
o _'
or
@ ' 5
b , .i
§ G g
E .\\' =
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N\ - i
&2 R g
R e
Q S
&
Q/l—'%d the pressure of the air in the tube at A in mmlHg. (Emk)
&
B i
&*
&

11. The diagram below shows two bodies hanging from the 30 ecm and 80 e mark of a untform metre

rule. One of the bodies of mass 1.5 kg and volume 0.0C1 m” is immersed in a liquid.

30 S it 1
- 2 1

e

Tiguic) e—

[OS Lay

y e G s P F T I T I

It the system is in equilibrium, calculate the density of the liquid Smks}
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SECTION B

13, {a) Distinguish between distance .1&@&

o

placement

(Imk)

Q
;,_ B C?f,o _ 0,
®# @ @ b, *—. ® 9 & & ®
(%) e =
<& —

! h) A
belore

determine its average retardation.

(Zmks)

matl ron ball is dropped from the top of a vertical T 45m high. Given that velocily just

striking, the sandy beach is 30m/s. and the ball penctrates the sand to a depth of 10cm,

{3mks)
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(c) A bullet of mass 2g is fired horizogRilly into a block of woad of mass 498g. The block is susp

ended by

a light inextensible string so that 144‘_@; able to move 1n a vartical plane. The block and the bullet miove

together through a vertical dlstgﬁce of 8.6cm as shown below.

] g\.
R |
.\6 H \
Q i
1 —
\6 } e 8 @52 |
L ! -+
i fo,Q i
Q i
i\ i
fo.c’ l 2
Q i i
[ R
< :
‘k'@ ¢ !
e S :
a T
N ks
(i) Calculate the change m gravitational potential eneroy ol block and hullet (Zmks)
(11} Calculate the tmitial velocity of the block and bullet after they start moving together.
(2mks)
(1) Determine the speed of the bullet before the impact with the block, (3mik)
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{h). Study the diagrangbelow and use it to answer the questions (1
A\

Copper

Jand (i1).

9
>

v .':i [ e

o o ~ice block - 0 ¢
%' i
Q/Q ]
& T L
>, Plastic sippon 1 ‘. i |_ ——Plastic support
S P | r |

T Weighits

State what is ikely o be observation alier sometimes. {1mk)

Fhe capper wire was then replaced with a cotton thread state and ex plains the observation.

(2mk)

A block of mietal of mass 150 at 100°C s dropped inlo a lagged copper calorimeter of heat

pacity 40JK containing 100y

C(Craer - 42001Kg 'K

v Sian TEK % .
ol water at 25°C. The temperature of the resultant mixture is

diermine:

i1 Heat pained by calorimeter.

(2mks)
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(11) Heat gained hyoé&%er (2mk)

ITmhki

(b) A hydrometer of mass 20g floats in oil ol density 0.8 o/em”, with 3 ¢ of its stem a ahove the of
the cross sectional area of the stem is 0.4 ¢m”. calculate:

(1) The total volume of the hydrometer. (Imkss
(i) The length of the stem out of water. if it {Toats in water of densiny T plem’ (Amks)
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(c)A testtu

draphragm tixed at its mouth as shown below®

(YA stone

(1) The

Gii) ThE

MARANTA

(2mks)

weighs 2N inair and 1.2 N whentotally imimersed i water. Caleulate:

valume of the stone
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(i) A b{g?( of mass 3,000kg and a car of mass 1200kg are bath wray cling on u dual carriage way it

(Tmlk)

he

same Qelocity. If both drivers apply the same breaking force. state with reason which one will cdme to
stapHfirst. (2mks)
(g |

]

V).A driver driving a car of mass 1200 kg ata constant speed of 72km/i is Nagged down by « trafli

¢

police officer 145m av ‘ay. It takes him 2 seconds to react to the palice signal and brings the car tol rest by

applying a constant breaking torce in 10 seconds. Determine:

(i) the minimum stopping distance (3mks)
(1) State whether it wil] hit the tralfic police officer or not (lmks)
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1 7.(a) Defing the term angular acceleration. ® (1mk)
\\
N
............. ..6\,...-..,.. ...,,...,........,....,.,.,.--,...,.‘..--..-
is allowed to wrap round &

> 16 tied Lo the eng of a string 1§ whirl

e

() A ston
(cadily reduc

W\
’b'c)

N
&

shick, thus 3

ol 2 kg 1y atiac

(c) A mag
&Q‘)

e \'u@mm ns

for cvery 2 seconds. (‘aleulate the |

<
5@1'{1@ radius of the cirele.

hed 1o a string of leng

od in a circle. [ the string
what happens to the speed of the stone. - (1mk)

th 60 em. [Uis whirled in a circle in a vertical plane at 10
ension in the string when the 13 at the:

» |

¥
&

MAR

ANDA SCHOOT MOCK

(11 Highest point of the circle

(i1 Lowest point of the circle
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